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 Function02 for No.1

, ,No1
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.1 ( ) x y 7 0 .3 ( ) x 4 y 16 0 .5 ( ) 2 x y 3 0

.2 ( )y 2 x .4 ( )y  4 x 18 .6
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 Function02 for No.1 (continue)
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, , , ,No2
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Eq [ ]y  4 x 18
A ( ),-2 29
B ( ),-3 30
C ( ),2 10
D ( ),0 19

    No3
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Eq [ ] x y 7 0
A ( ),3 -10
B ( ),4 -11
C ( ),-5 -2
D ( ),1 -7
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   No4 : 4.1 > S = 150    , R = 3     
       : 4.2 > S = 7200   , R = 4     
   No5 : N = 23000  , R = 9       , Y = 2568  
   No6 : P = 180    , F = 21000   , V = 40      , N = 153   

No7
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( )D p  29 p 7476
( )S p 21 p 5276
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 Function02 Answers for No.1
   Ans1 : .1 > yellow
        : .2 > red
        : .3 > blue
        : .4 > gray
        : .5 > green
        : .6 > black
   Ans2 : A  > NOT on the line
        : B  > ON the line
        : C  > ON the line
        : D  > NOT on the line
   Ans3 : A  > ON the line
        : B  > ON the line
        : C  > ON the line
        : D  > NOT on the line

, , ,  Ans4
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.1 [ ]y 3 x 150
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.1 [ ]y 2070 x 23000
.2 39560

  Ans6
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.1 [ ]y 21000 40 x
.2 [ ]y 180 x
.4 [ ]Profit : 420

.5 [ ]150
.6 [ ]y 21000 140 x

  Ans7 [ ].2 [ ]44

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:
:
:
:
:
:
:
:
:


